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KENDRIYA VIDYALAYA SANGATHAN, CHENNAI REGION

CLASS-XI1I COMMON PRE BOARD EXAMINATION

Subject: ECONOMICS Time Allotted: 3 hours Maximum Marks: 100

General Instructions:

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each.

3. Questions No.1-5 and 17-21 are very short answer questions carrying one mark each.
They are required to be answered in one sentence each.

4. Questions N0.6-10 and 22-26 are short answer questions carrying three marks each.
Answers to them should normally not exceed 60 words each.

5. Questions No.11-13 and 27-29 are also short answer questions carrying 4 marks each.
Answer to them should normally not exceed 70 words each.

6. Questions No.14-16 and 30-32 are long answer questions carrying 6 marks each.
Answer to them should normally not exceed 100 words each.

7. Question Nos.11 and 19 are value based questions.

8. Answers should be brief and to the point and the above word limits should be adhered
to as far as possible.

saamaanya inad-oSa :
1. daonaaoM vagaao-M ko saBal p'Sna Ainavaaya- hOM.

2. p %yaok p'Sna ko inaQaa-irt AMk ]sako saamanao ide gae hOM.

3. p'Sna saM#yaa 1-5 AaOr 17-21 Ait laGau~a%mak p'Sna hOM.

jjanamao p %yaok ka 1 AMk hO. [naka ]%tr kovala ek vaa@ya
maoM haonaa caaihe.

4. p'Sna saMM#yaa 6-10 AaOr 22 - 26 laGau~a%mak p Sna hOM.

ljanamao p %yaok ko 3 AMk hO. [naka ]%tr saamaanyat: 60 Sabdao
sao AiQak nahl haonaa caaihe.

5. p'Sna saM#yaa 11 - 13 AaOr 27 - 29 Bal laGau~a%mak p Sna

hOM. ijanamao p %yaok ko 4 AMk hO. [naka ]%tr saamaanyat: 70
Sabdao sao AiQak nahl haonaa caaihe.

6. p Sna saM#yaa 14 - 16 AaOr 30 - 32 vyaa#yaa%mak ]%tr vaalao
p Sna hOM. ijanamao p %yaok ko 6 AMk hO.
/. p'Sna saM#yaa 11 AaOr 19 maUlya AaQaairt p'Sna hOM.

8. javaaba ko saMixaPt AaOr tqyaa%mak haonaa caaihe AaOr }pr
idyao Sabd salmaa ko AMtga-t hl haonaa caaihe.
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SECTION - A

1. Define revenue. 1
3T 1 aReT SifFT |

2. What is demand schedule? 1
qEEdaE AIENXEOCEI MUE YrEE AJEi Wae(?

3. Define budget set. 1
oEeEOG Sa0 T Mib mEEUpEEWEE SileEL? .

4. Give meaning for marginal cost. 1
XEIqQEECIE sEEaEIE MUE YrEE AJEi Wae(?

5. What is meant by Oligopoly. 1
AsmEEIKEMUEU MUE YrEE AJET Weel?

6. Explain the properties of Indifference curve. 3
IEOOX]EE uECU Mai sErsEhE MiD urEEZrEE MUbIeEL |

7. Explain Law of Supply. 3
mEOIIEIMal 1IErEqE MU mEEUpEEWEE SlieEL |

8. The price elasticity of demand of a good is (-1). At a given price the consumer 3
buys 60 units of the good. How many units the consumer will buy if price falls

by 10%.

LMU uEXiIEN MiD qEEAaE MUb MUDJEIE sEEACE (-1 ) Weed|
EmEpEE&AEUE CxE uEXiEN Miub 60 CMUECrEE/AE ZEUISIEE Waed)|
uEXiEN Mub MUBQEIE 10% laEU eEEIE& XEA EmEpEE&LUE
IMUIEIET gEESEE ZEUIS&aEE?

9. Distinguish between explicit cost and implicit cost Give examples for each. 3
xmE?! uE AxmE! sEEaEIEEAC qEAC pEAS MUUAC LM ESEWOUhE
SileEL |

10. Explain the implication of product differentiation as a feature of monopolistic 3
competition.

OR

Explain the implication of homogenous product as a feature of perfect
competition

LMUEIKEMUEEUMU mEgIErEE&IaEIEE Mau ACIEaEiE EImMEES
IUEPE&S IuEZEAWEIEE Mai mEEpEEUE XEqQEfEECL |
AJEUEE
mEOhET mE&IiErEE&IaEIEE Mall ACIEaEiiE oEQUI XECZIEE qEA&C
IUECAUIEE IUEZEAWEIEE M&l mE&pEEUE XEqEfEECL |
11. In case of a product like diesel which is sold by government at a subsidesed 4
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price how can the government lower the losses without lowering the subsidies.

Disala ek vastu hOM jahab sarkar Aaiga-k sahayata
dotl hO [sasao sarkar laagat baZtl hO.eosaa Jpaya
bata[e ijasasao sarkar kl laagat mao kmal hao AaOr

Aaiga-k sahayata Bal na GaTo.

12. Explain the central problem of an economy i) on distribution of income 4
i) Technique of production
AErE MiD IUEIEUhE AEeU EimEES@IE MiD iIEMUIEIMU mEU
AJEIUrEUEXEE MiD MAUISITTE XEqEXIrEE MiD urEEZrEE MiUbIeEL |

13. State four factor that affects elasticity of demand and explain any one. 4
OR
Distinguish between change in demand and change in quantity demand
qEECaE Miib sEE&cE MUE& mE&pEEIUEIE MUUIE& UEESE & cEEU
MUEUMI oEIEECL AEseU LMi MUE uEhEIIE MUbleEL|
AJEUEE)
qEEZ&AaE qEAC mEEUUEIEIE AEaeU qEEdaEl aED qEESEE qE&C
mEEUUEIEIIE qEAC pEAS MibIeEL|
14. Explain the relationship between TPP and MPP with the help of a schedule by 6
keeping one input as constant.
LM AEaEIE IXjEU UZEMUU, MNUsE pEEaliEMU EIMEES AEseU
XEIQEEIE pEE&IiEMiU EimEES qEAC XEqoEIKE
AIENXEOCEI Miib XEWOErEIEE xE& XEQEfEECL |
15. What is equilibrium price? If there is simultaneous decrease in demand and 6
supply what will happen to equilibrium price ?
OR
There is simultaneous increase in demand and supply of a commodity. The
equilibrium price may or may not change, explain with the help of a diagram
XECIENSEIE MUDQEIE YrEE Wee(?rEIS qEEdaE AEseU mEOIIET
qE&C MUgEI LM xEEJE WOEAIEI Wee iIEE& XEIIENSEIE MUDQEIE
mEU YrEE mE&pEEUE mEQ&QaEE?
(AJEUEE)
LMU uEXIEN MUb gEEdaE AEzeU mEOIET qEAC LM XEEJE UEXI®
WOEAIET Waed,XxEIIENSEIE MiDqEIE qE&C mEEUUEIEIE
WOE&aEE rEE MUEAD mEEUUEIEIET IEWQT Weel, UAZEEICESE MUb
XEWOEIEIEE xEA& XEqEfEECL|
16. What are the conditions of consumer equilibrium? The price of Ice cream is 6
Rs. 30 . Meena has eaten 3 ice creams The MU for her is 90 MU of one rupee
is 3 Should she eat more or stop. Explain it.
EmEpEEAEUE Mau xEIIENSEIE MUD zEIET XEqEfEECL | LMU
AECXEC¢UIgE MUb MUBQEIE A 30 Weed,.qEIIEE IE& iEIIEQ
AECXE¢UlqE ZEED jEI| xEIQEEIE EmErEE&laEiEE 90 rE OO0IqE
Weael LMi AmErE& MiiD xEIQEEIE EmErEEAIaEIEE 3 Wael|YrEE
ExE& AEaeU ZEEIEE cEEIWOL rEE IEWQIC? XEqQEfEECL |
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17. Section B

Mention one item that is a part of capital receipts in the Govt. budget 1
TENT FoIC & TF 3% Jasy i goierd Tifeaat 1 &a § |

18. What is SLR ? o 1
LXELSEAEU  YrEE Weae(?
19. The country needs huge amount of imports for developmental 1

Programmes.Name one step which the central bank can make imports cheper
using the foreign exchange market.

lvakasaagamak yaaojanaaAaoM ko ilae ek doSa kao
Aayaat ko ilae pUbjal ki ja$rt hO ivadoSal
lvanayama baajaar inayaM~Na Wara kma dama
maoM Aayaat krnao ka ek ]Jpaya batale.

20. What is meant by BOT? 1
urEEmEEU zE&WE YrEE Wae(?

21. What is Parity value? 1
XEQEIEE qEEIE MUE YrEE AJEi Wae(?

22. Can the economy be in equilibrium if there is unemployment of resources in 3

the economy. Explain.
YrEE AJEIUrEUEXEE M xECIENSEIE TXEIIE gEAC AsmE
UE&eEaEEU MU IXEIIE WOE& xEMUIET Wael 2urEEZrEE MubleEL|
23. Rs. 200 crore increase in investment leads to a rise in national income by Rs 3
1000 crore .Find out Marginal propensity to consume.
rEIS IIEUE&zE qE&C uExI® A.200 MUUEAQO WaelAEaU UELE
AErE qE&C uExI® A.1000 MUUE&QQ Weel. XEIQEECIE mEEUEXI'E
EmEpEE&aE MUE gEOsrE IIEMUEISEL|

24, How does money solve the problem of double coincidence of wants 3
gENSIE SEaW0OU& XxECrEEaaE Miub MUIPUIEECrEES MaelixEda SOU
MUUIET Wee?

25. Distinguish beween capital expenditure and revenue expenditure in govt 3
budget.

XEUMUEUI 0EeEO( qEAC mEOSeEl urErE AEseU UEeEXUE urkErE
MUE ACIEU xmE! MubleEL |

OR AJEUEE
How does budgetary policy help to reduce unemployment and price instability
oEeEQ IETIE oEAUE&eEaEEUI MigE MUUIE& iIEJEE MUPQEIE
IXJEUIEE qE&C MaeUxE& XEWOErEM{ Wael ?

26. Calculate National income for the following data 3
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i) Consumption of fixed capital 2217
i1) Net indirect tax 3527
iii)Imports 1806
iv)Exports 1771
v)Change in stocks 1039
vi)Gross fixed capital formation 6305
vii) Government final consumption expenditure 29163
viii)Private final consumption expenditure 3801
iX) Net factor income from abroad (-)284

IEqIEISEIZEIE AEAMUQUEAC xE& UE-lrE AErE ¥EEIE MUDleEL-

1AcESE mEO&eEl MUE EmEpEE&aE 2217
2 zEN® AmE&irEcE MiU 3527
3 AErEEIE 1806
4 1IErEEIE 1771
5xO0EMi qEAC mEEUUEIEIE 1039
6XEMUSE TXjEU mEO&eEl IIEqEEIhE 6305
7XEUMUEUI ACIIEQE EmEpEE&aE urErE 29163
8lIEeEl ACIIEQE EmEpEE&aE urErk 3801
9luES&zEEAC xEa AleEiiE zEN® xEEKEIE AErE (-)284
27. What is revenue deficit? What are the implications of revenue deficit. Suggest 4

two measures to reduce it.

UEeExuE bEEOGE YrEE Wae( ?2CXEMUE YrEE mEEpEEUE

MEAQUIEE Weeli ?CxE& MUgE MUUIE& Ml IsEL xENFEEUE SlieEL |

28. Explain the functions of central bank as banker to the government. 4

OR

Explain the Bank rate as a method of credit control used by RBI

MAuISIIrE oEeeCMii gEAC XEUMUEU MUE 0EseCMUU MUE MUETET

xmE! MUbleEL |
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AJEUEE
EUeEUEi oEaCMii gEAC XEEZE IIErECS8ENhE qE&C 0EaeCMu SU
MiiD pEOQIGEMUE xmE! MubIeEL |

29. Explain the components of capital account in BOP 4
pENaEIEEIE zEAWE qEAC mEOSeEl ZEEIEA Mal bEOIMU xmE?
MubIieEL |

30. Will the following be a part of domestic factor income of India? Give reason 6

in support of your answer.
a)Profit earned by foreign banks from their branches in India.
b)Salary by Indian residents working in American Embassy in India.
c) Profits earned by Indian company from its branches in Singapore
IEqIEISEIZEIE qESAC pEEUIE MUD bEUASER XEEKEIE AETE qEAC
ZEEIQESE Weel rEE IEWQIC?AMEIES E'EU MauisEL MUEUNE SileEL
I
(A) pEEUIE qEA&C IUES&zEI 0EeeCMUEAC MiiD zEEZEEAEAC 2EUE
AleEiiE sEEpE
(0E) pEEUIE gqE&AC AqEAEUMUIE UEeESOIE qEAC MUETEIUIE
pEEUIEITE IIEUEEIXErEEAC MUD iEIEZUEEW(
(X)E pEEUIEITE MugmEIEl Miub IXECaEEmMENU zEEZEEAEAC 2EUE
AleEiiE sEEpE
31. Given below is the consumption function in an economy: 6
C=100+0.5Y
With the help of a numerical example show that in this economy as
income increases APC will decrease.
OR
The saving function of an economy is S=-200+0.25Y. The economy is in
equilibrium when income is equal to 2000 Calculate.
a. Investment expenditure at equilibrium level of income.
b.. Autonomous consumption

c. Investment multiplier.
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32.

C=100+0.5Y

www.ncerthelp.com

|EicE& AJEIUrEUEXJEE qEAC EmEpEE&aE TUSEIE ISrEE aErEE Weed:

CXEXE& rEW{ IXE® MUDIeEL IMiU AErE oERQIEA XEA AEaexEIE
EmEpEE&aE mEEUEXI"E bEOQ eEEIEl Weed |

AJEUEE

AJEIUrEUEXJEE MUE oECEIE TUsEIE rEWG Wae( :S=-200+0.25Y.

eEoE AErE 2000 Waed,

the following data.

i) Subsidy

ii)NFIA

iii)Depreciation

iv)Personal Tax

v)Saving of private corporations
vi)Dividend

vii) Indirect Tax

viii)Corporation tax

iX)Net national disposal income

x) National debt interest

xi)Net current transfers from abroad
xii) current transfers from government
xiii)Miscellaneous receipts of the government
administrative departments
xiv)Private income

xV)Private final consumption expenditure

iIEE& AJEIUrEUEXJEE XECIENSEIE qE4C Waed ¥EEIE MUDTeEL-
A AErEIIEUEAZE urErE qEAC XECIENSEIE xiEU MUb AErE
oE xuEErE"E EmEpEE&aE
XE 1IEUE&ZE aENhEMI

Rs in crores
40
-120
100
220
80
40
200
180
2000
60
40
100
60

1400
760

Calculate Gross National Product at MP and Personal dis posable income from 6
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1IEqIEISEIZEIE AEAMUIAQUIEAC XE4 oEEeEEU MiiDgEIE mEU
XEMUSE UE-{IrE EImEES AExU urEI£( mEErEEaerE AErE ¥EEIE
MiDleEL

Rs in crores
1 XEWGErEIEE 40
2 IUES&zEEAC xE4 AleEiiE zEN® xEEKEIE A -120
3 QEOSIE %IEXE 100
4 urEI£iaEiE MiU 220
5 IIEeET [IEaEqE MU oECEIE 80
6 SEEpEECZE 40
7 AmE&irEsEMUU 200
8 lIEaEqE MuU 180
9 zEN® UE-iIrE mE&rEE&erE AErE 2000
10 UE-{IrE GhE orEEeE 60
11 IUES&zEEAC xE& zEN® cEESEO WOXIEECIEUhE 40
12 XEUMUEUxXE& cEESEO WOXIEECIEUhE 100
13 XEUMUEUT IUEpEEAEEAC xE4 AlrE mEEETmMIErEED
60
14 1IEeET AErE 1400
15 1IEeET ACIIEQE EmEpEE&aE urErE 760
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